iecond order ODEs

invol SPTL

WONE Ty i, 4"
ﬂd ' » \

A LS srden ODE _a Wtbu {f ecther o or (j ,4,'3' ’m.un'uua

y

‘edu.,cibu 2"d suden ODEs cow be Aplved MAuna Aubstit utlicsvy |

CaseI "j A miss(ng’ éxX: )(LJ”'f‘ ij/:: (e2C,
ITn +hs case, et

/

V=M, sothet 4= (4)=

2_’_75.'- /So|vt. the ODE ’Ki,,—t- Z'EL/:: X,
Alnce M cwni,»m.?' P
. / /1 /
’V-/j, so +that (j:'l/.
Thuw tYw CDE )
)
XV 4+ v = X (Not&&dm have cha.nsed (“reduced B,
v’ + ‘,Z'(fvz G % 27" order ODE irto o 1% order )
Th,c:) A o ' J —
Liear ODE (( v'+ Plxyny = Q). and y Solving i,
we find that
AJ(X)= 2x + %—i :
BtLt ‘tl’lw /'—' ’er + C‘i p 4 C
A, = 1
p %‘_—_—?Lﬂ'—x_;c""cz*]

we gQolveed 4 ond order~r ODE ,

C,ase: i ; : /
D . frvuss.\n(cs,, éx . "j”*‘quzo-

Tvi Haua cose a.ﬁouw Aer
v= 4,
Thcs - Eivce: ‘ﬂaot-kﬁh', write
"j”: . 3% " _i’g_if_: dv ‘_ dw
v total ¢ Moo= ’Vﬁ%ﬂ
.i_i_v_c; Aeolve  the ODE g+ Iy =0 .

— ——

MA—UUW\.L /
Sk x"‘j"j ONL >0 wheve necdeel.

L I s ML * wen X |
AA Y\%) /QJ— VvV /j SO0 that Aj — /\].é:‘:'\j.3 and {m ODE
becmuu




= vdv = ——qu dkﬂ
— .-‘i.fvl = —ji—,tjl-i- C
\\Cll
(TF\Q(‘\ — - —-q:.jl4 C /—< S )

G The /60.&(: that C = 4 ¢+q3’1 wmeans Cz2 O, whdch 9means that
K im VC 25 well dﬂfy‘f"-‘*d) °0

4= 2y 4 CRENA

This Scu.ds
% = 3[’(21-*32 (SePowabLa,)
ST J_i‘i_— - 5 2 o 3°°d to remiember that
‘/kzz"‘jl S d x B sin—'(z—(‘)-*- C
—_—— 0 /az_x?- a

’ -  ud a e
Since I<2.. :'/;-ﬁ F ,X.Mt Soe vuwlevision congtunk

,.':,k u () &g W | i ~

Wwe coaw «Kf.u‘k Lo rap
(7 aﬂ.d S{ynwen C A.'/J thw Mkho\,ow LDY\S’FCLY\*',’

Gno Shnee
we  axen't MC(Y\% the Label “c” By nove (siviea ik qot wY‘o.\b()cA.M() vito
the Label \\k”, W€  clayw Wt write Y’ e PLO..(L 06 \\al(.
oumtzg::tbwb ‘wavb3 owu sedudiarn Aa

[fj = k sin(3x + C)]

.W, i WW%MWWWWbW
.WWMLMW\W'




